CET 12" Level Answer Key 1st Shift Dated : 04.02.2023

1.

10.

ﬁ'ﬁ'ﬂ%ﬁﬁ'&ﬂ'ﬁ@lﬁﬂ.mﬁﬁ H9a gt
STt 21

(A) Tergfer (B) gt

(C) ferfrefar (D) g [c]
FH q 1 91 Ua Ar9-3weR iR 82

(A) 34t St (B) gfe Afgary

Q)= (D) &R [D]

Choose the correct Hindi translation of the
following word from the given options:
Domicile certificate

(A) g gHTT U (B) Strars w1 9

(C) g& Rareft ymor o3 (D) S+ w101 O [c]
2.2 g 3¢t ft dias =t 0.5 St ey & de=TAR ar
# @rar A1 8, |t aR & o @

(A) 56m (B) 112m

(C)224m (D) 448m [B]
Frefaf@a | @ @la-a1 & g addPe od 8 ?

(A) O+ (B)O

(C) AB (D) AB+ [D]
Rt @ ure "Ry H Zar &1 I FarEd)

(A) Teidi= (B) RF=mifae

(C) Faptfes (D) g7 [D]
afdr e & S=A wae I SEHe fhar STar g ?
(A) S Aies (B) die

(C) AsrEm (D) HReet [B]

The Heading inadetter consists.of

(A) Salutation

(B) The writer's address and the date

(C) The reference / -

(D) The subscription [B]

urERuize # 2t @RE & ANS Ihae Gisd duiey |
ST o1 Hehelt & _
(A) wavmid wEet (B) .wav gif wraet

(C) .wava jpg wiset (D) jpga.gifwiget  [Al
Li 3R Mg & &t gar=ran htawig 2

(A) o srafaes e

(B) I=a e UATeHeh Hplal
(c)mmﬂ:mﬁﬂﬂrw :
(D mmﬁmm [A]

11.

12

13.

14.

15.

16.

17,

18.

19.

g waAt Y I Mg g H1Sed 8

(A) IuerET Sht TATIHT AT

(B) & TASTIR 37GER IUTse Har-T

(C) Iuzhmt &l TUTIAT THAT U 78 ASHTR SFTR I
AT Gt

(D) snffer STATSH Al &H AT [c]
gAe aif & gw foraan s A § ?

(A) Pifepr Sfrafas= (B) 9o fGer

(C) wreprar s (D) Srafarehr [D]
ToTeyT # et ar wgafa sma= wm R mar?
(A) 2 (B) 3

Q4 (D)5 [C]

3
Tf sin @ dacosaAHATE

|
(A) 2 (B) 2
(@) g (D) g [D]
A= 7 & g R Y za=af oog & Pem A &=
T 82
(A) ofeRreft (B) drerert
(C) uarer (D) ot [C]

afe x° + kx® <2 x — 24 &1 G UHES (x-2)
&, at k =1 a1 82

(A2 (B)-2

(€) 5 (D) -5 [c]
'FRTY Ml ereE-grH & et o o1 TG R -

(A) uem - Tfx (B) gy - st

©#gec-Fm (D)Tu-Tm [D]
forads s et & fhare el @t @RS @
At g3il? _

(A) zrom fhemfeis (B) Tt srrared

(C) Ton wufdig (D) o FrHfE [D]
= & 9 S AU & UgeT Siaen aia
fegs Saurea dEAg?

(A) FreT TR T Fott

(B) mael drdig el dda

 (C) el ardt et waw

(D) Tae dnfig sl Ga= [A]
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20.

g

24,

25.

26.

27.

fRvem &t @ AfeR R Rt o srafemr @ 2

(A) 3R (B) sr=ee

(C) #exrTe (D) =T [A]
AT H UUgdl U SEedl @ PURY e
daadia ateEr & sierta fRwar mar ur?

(A) ma (B) f&da

(C) gt (D) 7gd [B]
qal-t gar a1 3§ Aea &2

(A) SwTHfes e TaegR (B) yuidre AHEA

(C) AiguR HeeER (D) yFeeTRE [A]
Choose from the options given below one
word for-

someone who walks in sleep:

(A) Philogynist (B) Somnambuhist

(C) Recluse (D) Termagant [B]
FHTE & FTHT AT AU2ATF g St =0 ®@an
{4

(A) TprSE (B) &Rt

(C) gl (D) ehreie A=t [C]
AMTRE: & 7 49 SR swforsreff & s e SR
ahforeRTaif &t geren J

A) TR Bt &1 (B) greT &<t &1

(C) ww gt 81 (D) STa-ae sgerar w&a1 81[C]

gfe 5 S=adt 2020 ot FAaRAUT Al 24 F=a<) 2022 Ft

at=ran &= ghm?

(A) TR (B) HiwarR

(C) TR (D) grar (8]
@ 4 @ o9 91 sy9 JoRy= o8
AR HTAHT & aR 3 T8 TEi 82 \

(A }agqmagaz@uﬁm%ﬁﬂﬁmaa’ﬁm
T g 8l

(B) Srener IedaH AT ol AdifAga =rarehier giar 81
(C) 3ra Hew Ieq I 17T fSief] ~ITIerd ~eHIsT
areran AfSIRe gt srraT e gl

(D) sremer T o Tewl @t PR TR GRT @ STt g
[B]

28,

29,

30.

31,

32,

33,

W 4G # T HHIE & 1 g-

(A) SeHe ISR g1 (B) Ui AT dheATl-

(C) wrset g (D) Rendia @ [B]
froéia weront & wahaes Sfi-it 52 &t ST 21
(A) gefter (B) Fofidt

(C) S+t Ty (D) wenet Ha [A]

adfa | oy # TR Pl f e s g

(A)6 (B) 7

()9 (D) 10 [D]
Go through the following poem and answer
the question given below:

O Rose thou art sick,

The invisible worm,

That flies in the night

in the howling storm:

Has found out thy bed

Of crimson joy;

And his dark secret love

Does thy life destroy.

According to the poet, the main idea of the poem
is:

(A) The poet praises the secret love of the worm.

(B) Wicked people winthe battle.

(C) Innocent arehelpless, they suffer and give up
their life.

(D) The-beauty-of the Rese-isimmortal. [c]

R * 840 70 e ATt 2ae & 10% & ey & T
aﬂﬂwiaﬂ!ﬁa:ﬂﬂﬁaﬁS% # g™ @R S=an
&1 u e sifew Rrea geu @ ghme?

(A) 877.80 (B) 798

(C) £ 837.80 (D) £ 924 [A]
Pr=ifha & & voRuE & H-a [ | glaw 6
Eoc {Fﬂzﬁs ?

(A) Sei (B) gt

(C) srwarsT (D) grreTars [c]
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34,

35.

36.

3.

38.

29,

forem g :

(A) 3MRe@eT (ORACLE)

(B) g a1 T8 &g Ut (MYSQL)

(C) T8 w& gaiE (MS ACCESS)

(D) Tr++ (C++) [D]
o= uré st T Sreaae e A Ut AT IER &

A = Paper (!?I"T?-t]

e B = Advertisement (Rema)
| A C = Binding (argfem)

/ D = 'Printing (g7

E = Royalty ()

F = Miscellaneous  (fifern)

(Expenditure chart)
(e =ré)

arsf=an &Y srdan RAsmaa uR frasm uftee sare @
frg?
(A) 2.5 (B)9
(C)3.8 (D)10 [A]
'H 1T T SITET 59 a1 § AT ¢ -
(A) Fegaras (B) r=uaias
(C) fciaras (D) weraTaes [cl

St foRelt za &t A<t & gEmEr San g, a9t wua S0
2 aur &= Fo1 IR EA o) 59 AEE & IuE

e et € _

(A) srodzor & (B) s1ifSres e

(C) arsfiezor 7 (D) fie= & [A]
At wfgen kT @i adea sieme S 67 (18
Reaw 2022 & IER)

(A) Frmar 2t (B) sifcrar gHRETe™

(C) <. s e (D) sftorett 3t ek [D]

YR # 419 UGl sd aREy. AL g ot 2
(A) 19714, 1973 ~ (B).1 89, 1973
(C) 1 3, 1972 (D)1 7, 1972 " [B]

40.

41.

42,

43,

45.

46,

47.

48.

(A) g5TreE

"o | faver wreaw A e @R areft g f o
forvor & O3 w1 snua= @lvun, shifaes ior & aRTER

giar 8, 99 g HoTgar g

(A) 0° (B) 45°

(C) 90° (D) 180° [c]
fora fFam sr=tere & wed d $9 smaim @1 e
o mar un?

A) & ST (B) farsitferar sr=ter

(C) arerar sr=re (D) S srr=ter [A]

If log: (x +1) = 2, then the value of x is: afZ log;
(x +1) = 2, d& x &1 9 &-

(A)O (B) 2

(@3 (D) 4 [C]
arema aTRfEfad a= &, @rer yjaer uey gt & -
(A) ureuwrash 9 (B) Sigtetad &

(C) e He d (D) &Y Tt & [A]
werTen ot ame Mew oy d wef fRa 8-

(A) Stergz (B) areft

(C) sragz (D) Sheerik [B]

39 ufdER MEaE F1 TF Fqrzd R T Fae srat
% M T UR SGHA AT Afceh Aeh ATHERI i

I anfarae & +ff g s
(A) AT UUH (B) et
(C) TSt (D) g fgcfa [A]

Choose the correct direct speech of the

followingssentencesfromathe ‘options given

below: _ :
He ordered them to lock the door.

(A) He'said to them, "Please lock the door."
(B) He told them, “You locked the door."

(C) He tells them, “Lock the door."

(D) He said to them, "Lock the door." [D]

SterqR i At areen” P d S g 2

SEESEE 8

(B) ST & &7 U=t 31 O
_(c)ai’r@n:s’?

(D) it [B]
Prfaf@a & & st e geag 82
(B) sr=awor

0 NC) e | (D) Prara [A]
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49.

50.

1.

52

53.

55,

mﬁ?wmammmwa’

(A) (B) i - et

(C) e & (D) &g TR [B]
S1aTE WiEhaT &1 &8 e aTer Rude #irs &-

(A) AUG (B) UAA

(C) UAC (D) UGG [B]

Change th following sentence from the active
voice to the passive voice.

We expect good news.

(A) Good news is expected.

(B) Good news should be expected.

(C) Good news must be expected.

(D) Good news was expected. [A]
30 JEagER, 2022 @i ORI & HiRE! Mg | U dge
FEA- Y &g a1, g8 e 9 ar a=mar ma ur?
(A) =t (B) 7o

(C) Traradt (D) @t [B]
Qe et a1 card 0.7 S @1 gas uieht & Zhr | 3000
M guf &9 | wRew ot aeR P srer g, at

TR Prre et ol & smaeA & et 7 4

7
(A) 539 &= Gft (B) @;ﬂ-
(C) 439 = &+t
Thl-7 (ASCII-7) wifdw

[A]

15,9716, T, 10,
AT Qd AT E
(A) 16,18 J
(C) 15,14
e da R
g g?

(A) Elaiﬂ, q@- -: v
(C)amé m Bmmmw

(D) i, dTelTs, e, G

8%

58.

89,

61.

62.

SYYR & SEdad wSt & Fefor ..., 3 FRaman?
(A) FBRTST TRERE

(B) FERTSTT 83138

(C) merreT Irefdlg

(D) wERTST STHe=ares fZda [A]
SRTEEAT &Y ad = 91d @2

(A) iR (B) &%

(C) sraerte (D)HWITIE [B]
e # Prafafle srearg weai § & #ar gad
&0 Fiftier auf e wHear &2

(A) BShw (B) Swg

(C) BWhw (D) Aw [c]
SEHETETE H ... ety G1 o1 At far
T™I?

(A) 349 (B) 35¢

(C) 369 (D) 373 [C]
'gSHAR’ A% & AT §7

(A) Seferza (B) deges

Q) &z (D) sredirgerma [B]
gdf ure # watea R 82

(A) st

(B) grersrer

(C) we==fY
(D) RRRR  #
mfa—= fird &
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67.

69.

70.

71.

72

74,

75.

mgﬂaﬂﬁmmmaﬁﬁnﬁﬂﬁnﬁa

Al &7

(A) TETT 7GR START St 76. uaﬂﬁ}mm ereE | et G @2

(B) 3= <gmaTerd &t (B)%E.fm

(C) T5T TFHR &Y (C) g e (D) afY [D]
(D) s & AgIfeadrr &t 77. Feafof@a d @ siae @ a5g & ‘aderar 87

[c] (A) A (B)B

g9 @ 9 91 91 wium &t sifestae W F agearn (C) AB (D) O [D]
&? 78. ‘R W & IgER =g & o @ HaEfldw
(A) ALU (B) &=giT gfe wrnifes 87

(C) srEwaer (D) &Y arrE [c] (A) anT e efmifear ar

Frafaf@a & @ s ar srunfRes or wafita awar @2 (B) <t ft eroft &t @rd

(A) Al (B) Be (C) = Tt 9t A R ST

(C) grey Sn (D) Mo [B] (D) aa dfa o St dfelt IR [D]
HUH 50 HTehd HETTHT HT AT @ ? 79. &% & S9wT ufaruide @1 =g fRAeeu 7@ 8?7

(A) 1000 (B) 1200 (A) 3rr3eetrsT &g (B) e &g,

(€)1275 (D) 1525 [c] (C) Wiz Gi&R g, (D) TgE M &g, [A]
afg ‘CLOCK’ @t ‘34235" 3lX ‘“TIME’ &l '8679' & | 80. U AR A 567 F AU H . 5, 3.2, 0@ . 15
Ffea far omd &t ‘MOLEK' & forg sYe @ gh? Reds@gudlaR ga v s 2208, At dqt ds.2
(A) 72945 (B) 72495 & Rl f e g ?

(C) 62945 (D) ¢ [B] (A) 30 (B) 35

&y A&l & AR oA (C) 60 (D) 120 [A]
SToEre & TR O 82 P TrgTac TE &7
(A) 70 wiea | (A) Fwom

c)ummaaaa (c)rﬁaaﬁ _ [c]
(A) 1992 ; ; __ Qe a1l GAT AT &) & Y ge W g
(C) 1982 _.

Fill in the blan pne.of the correct

options from t ns given below [C]
It's time they/ . ........ Working on the B3. _ Rl 5+ 21§ =_ & A7
project. qTEeH &

(A) started : : SUIEE

() will | R0 1 : § [c]
Choose the words v early opposite SeTi,.....

in meaning to the underlined wordsj

Opague .

(A) Cloudy

(C) Blurred
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85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

7.

ﬁﬂaﬁqmmmaﬁaﬁauﬁﬁamﬁmm
g&al g?

(A) Icaet gUoT ZRT (B) 3rader gdor gy

(C) et guuT grRI (D) srada o9 gRI [B]
;a;nﬁma # Iugad araHH R ILE faar sl

(A) 450° C, 3R (B) 45°C, f&=1

(C) 150° C, &R (D) 300° C, Rrear [A]

VR & A FISA HTF YATSS ShiATTHS e
&Y ugelt Aigen AT &4 87

(A) G Tt (B) Y01 g2 s

(C) s ey (D) st aRferT [A]

& -t a1 e & 94 HIg?

(A) sr=aeafa (B) arfeam

(C) Srauf= (D) Sicerar [C]

ofy g @Y ZR1 Tref ¥ werd &t T @ &
s @1 /3 Ton &, &t g @ I e 2

(A) 30° (B) 450
(C) 60° (D) 90° [A]
(A) et (B) sgst
(C) gadhaSht (D) Wit [B]

farg A (3, 7) @ B (-2,1) &t BAe= areft @ &
A 8?

5 . 16
(A)g (B)—
(C)% (m d [A]
ﬁwﬁ-’rﬁ}aﬁﬂf&mwm%m*
Ie@= F &1 Icavaided SHIeNn?

(A)ngmr—q‘qﬁ@mﬁm,w

(B) ¥R qRrea Trdetor, 78 facelt ;

(C) 3o i, qot

(D) Aera frsafderea, itefRm [B]
oy & e F @ fre A9 & aoreurs g
smuRyd e aRgismr éi auy wRul § afdfea
81 frar 82

(A) eter
(C) srereR

(B)wa!
(D) s €l

qeftar affys &Y ok wreren 2, a8 ATt o gear 8, R |

arft 3R Ua R g andff ofik aur s gt ok wa
3id # i 3R "eram g1 ag e fRem A s wgr 82

(A) IeR (B) =feyor

(C) (D) ufgm [D]
‘araeft’ & mpuoT (SeR) e wu= & g 87
(A) ATagRT (B) Frcdtems

(C) sk (D) TR [A]
HTAYRT-helell HE= WIT 82

(A) T 3= @ (B) grret SRA 1

(C) =gt afd= &1 (D) s afEs &t [D]
Fill in the correct article.

He is not ............... honourable man.

(A) an (B) the

(C)a (D) no article [A]

98.

99.

100.
101.
102.
103,

104.

105,

106.

107,

108.

100.

110.

mﬁﬂw aﬂuﬁﬁﬁmqﬁnwﬁa?th%% farg

A % ol W
%a’tmél afafere gftuea & amt foneft fomg

(B) & ol RS

ThIhfad Bl &

(C) == ejure gt SIraT 8|

(D) wifrar Y amepfer mifera =1t gt [D]

USTEUTE | @& Wed 85 HIdhA &1 Tva-y R

nfafafe & =8 &2

A) fat g 7+t &1 ReroT SR

(B) Ster-iwreT & faenrd

(C) gamigur (D) TRt Aaror [D]

30 @R, 2022 #1 684 wediy fhew qeeanrl | &rar

g Biedh R | R genfaa f&ar mar?

(A) agter (B) 3rreim uRE

(C) < TR (D) 3mem offge [B]

Ty & fohe dwerg & wte gqeal g sfe e

e wmar 82

(A) argua (B) SremTedt g wwera

(C) 7= Tvera (D) fasiiE duer [B]

9T 3 (=T Rsyuor qreanr fRAstar 2022) R aa &
e &7

(A) @ (B) sigfRer mrenfiht

(C) gurst Far (D) W aSig @iftla  [D]
ASTEYT T iR qear Aa g5 uei & e mg &

82 _

(A) T (B) e

(© ?ﬂﬁﬁ (D) 4= [c]
‘Rramfa’ ez & forg T sitsh erez @t gmr?

(A) Discrepancy (B) Discretion

(C) Dismiss (D) Disorder [A]

fha g1 &t Ferdl &1 IuahT fohdbe ol deeT a9 &
g fora s 82

(A) g (B) forett

(C) &= (D) s [B]

WETE hier &1 H i atell atell ofiet 87

(A) arrt (B) Fard

C)E@?ﬁm o (D)W( ) 3 [c]
"Seag we2f gerehien (CCPI) 2023' & WRa
& & 22

(A) &1 (B) Gradt

(C) st EIE [c]

L + M =r1 31 L, M =1 1S 21

L - M @t 31ef L, M &1 g &1

L + M =51 31 L, M =Rl ot 81

L x M @t 3ref L, M @t forar 2,

af e d d rger e g I R, T Amar 82

(A) R+AxS+T (B) R+A+SxT

(C) R+A-S+T (D) R+=A+S-T [A]
fora ad & wRa 3 g=m=-1 sierur ?

(A) 2007 (B) 2008

(C) 2009 (D) 2010 [B]

Choose an appropriate translation for the
sentence given:

She saved money for a rainy day.

(A) 38 a1Rer & fag 44 sr=mg|

(B) 35+ oft= & A s=mQ |

(C) 35+ &1 et oA | sr=m |

D) 38 R Ik o foiy O =g [D]
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11.

i i

113.

114.

115.

116.

& g sYoft =1 apTer U @-
[c]

) die [A]
7 aur dw ARl & o s e w81

(A) e febhent
(B) 2reTTe fahem

(D) ToremdR fare [c]
Pafaf@a d @ g area § sreede foRar &1 wain
oo mar &7
(A) wfder S @rar gl (B) A+ urt ot w81 81
(C) TR e @ @ &1 (D) ag Ia R et Warl  [D]
e foren & wanfga g1 et 74} &1 71 8-

(A) wiceft (B) ===
(C) TR (D) &Y & i [D]
< DN S| 2
@ |/N |/
© | 7N o |7 - [B]

117.

118.

119.

120.

121.

i 1288

Complete the sentence by choosing the
correct préposition from the choices given
below:

What's the time........your watch?
(A)in (B) at
(C) on (D) by [D]
ik & A st sfie e ad &2
(A) Stearr (B) S
(C) Fam (D) e [D]
A ABC qut A DEF # afy 4B _BC _CA _3 &t 3%
DE EF FD 5
ISkl 2T ST giT-
(A) 9:25 (B) 16:25
(C)5:3 (D) 3:5 [A]
gftervor Ry
J,x+m,y+n] =0
J3x+ m,y+n, =0
§ af {—': Mo @ wdtawol gr weffE
2 My
@] g-
(A) ga=R (B) ToTeht
(C) errsaa (D) wiereasd} [A]
fA=fafea F | fra avaar  sae o afeat a3
# $e1 a1 v =gl gar ur?
(A) T (B) &efrsrr
(C) dicftsmm (D) Trotear D]
Ter Y-fRR Sute v R Jard ) @ e aw

WHUT YT 82

(A) 36,000 #t. spreavedia @
(B) 36,000 e, spreardig o

() 36,000 foret, ﬂ'aﬁzraﬂ
(D) 36,000 #t., gefiar e

[B]
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123.

124.

125.

126.

127.

128.

129.

130.

131.

% g3 g RalE 2022 &1 werraFEaAf 82
(A) fasag 5=

(B) Egea g qafaRoT HishH

(C) fa=a snfdies 71

(D) forarm [B]
ST | U dATadl hi et dEan §?

(A) 10,890 (B) 12,560

(C) 11,283 (D) 13,443 [C]

FAAIREAR HAHER R T=at A 39 g Hiw 7 @
maT8?

(A) <1 ad (B)1-4ad

(C)4-6ad (D)6 =10 [B]
ToY #Aleh Qa1 HANT & GEET &t Ug ¥ gerdr &
HeRaT 87

(A) T & GRT 3= ATGTed & Sid o 916

(B) Irsgufa & ZRT Gated <arTerd & Sid & 15

(C) faam g1 & Teif9ahT uxad & dgd TvgdTd gRI
(D) T9E & FeTHa e & dgd Aeufd F g1 [B]
gd & faneht =afn ar sifderrdt &t WSt 11g us &1 SraE
T AT R S THROT-UH Wl 1 8, 39 FEd 87
(M% (B) fasife

(Q) (D) sg&IRs [D]
g aif &Y g F 1% &6 Tt & 9 s9 af &
et § et Rt srenT uitieraar e ghft?

(A) é—% (B) 1%

(C) 2% (D) 4% e |
ﬁ'l:ﬂﬁmﬁﬁaﬂqmmuﬁq# 7 & wg
& 8?2

(A) srageRr @ mer REwR (B)ﬁw%uﬂaa

() s Ramr (D) Wﬁﬂﬂm% [A]
gt &g, aoreurs g $ ugett e

el el Rumrawmd a7

(A) et (B) et

(C) argdt (D) agat [C]
wmafas’fmmmwﬂﬁqﬂﬁﬁqqaﬁ
s # g sfafrgraer )

(A) STFmRa= § | (B)SFER | - I
(C) maRard OEms | | (e

132,

133.

134.

135.

136.

137.

138.

139.

140.

& ga v=R1faY 12 af § wraror ot i R F E
g1 et &, &t ag i et awt J Rt gift?

(A) 18 o (B) 24 g

(C) 30 @ (D) 36 a¥ [B]

dain &y T g2

(A) 3revTTEe weer & (B) s/ &

(C) Ffaeps & (D) ScR™avs | [A]

frafaf@a d @ @19 1946 d wra & dfdu= Aakh

VT # IEUTH & ufafAfY & =9 § g9 R ™

97

(A) fasrafde ufds (B) Sftarrst Arrgor Agdr

(C) ERrerer st (D) Htg=rerrer gamtear  [C]

Ay e srdema e ad F =neg R mar

Uur?

(A) 1977-78 (B) 1980-81

(C) 2001-02 (D) 1984-85 [A]

dal A Afgsa gu & wgatn | aoey™E J gl

wTE I TuTfue fpam &2

(A?#‘fmm (B) @ler

2 ([ig:?rwﬁgaaﬁ?m i

ET ASTEUT &I AT mT?

(A )Wmmﬂﬁiﬁ

(B) TERTST yuTAE

(Q) mﬁﬂ—dﬁg

(D) HERTEE @IgHURIE [A]

Choosesthe correctgHindigtranslation of the

word given below :

Ragistration

(A) ufSrerr (B) q?sﬁaﬂﬂr

(C)dfeer (D) fraw= [B]

WA 9 & Ul Sfterasg vt & 11 Rada
o R ST STl HIRE SRR Z1T R m ur?

(A) T & (B) ursdve §

(C) wmfear (D) sheiar & [c]

Frafa@e 4 & FiFE deseaar |@idl 8 o awf-aa

(A) Teastt (B) areett

(D) st [D]

(€) et
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41. 3foEar Ve 6 R Raié 2019 & gaR ag Isa

142.

143.

144,

145.

146.

147.

148,

149.

150.

(F=z nfla weer =dl) wigi a= &7 &7 ufaeE 7=

AAH §, TB 8?

(A) deTg (B) TeTem=

(C) gRamom (D) Jeer mear [c]
fFrafaf@a F @ slsar v« vaerT A1, A2, A3 3R
A4 I« 1 g @ieA & Peag 22

(A) =sum (A1to A4) (B)=sum (A1;: Ad)

(C) =sum (A1 : A4) (D) =sum (A1-A4) [C]
Frafaf@a § @ wrar ad gifem a8 87

(A) ST 3 grer : 3g=ds 15

(B) @ & fAmfor &1 aifder : argeds 19

(C) Siter <t 2am &1 SfAFR : rgesa 20

(D) Taunfe IuaRY &1 fder : srgeds 32 [c]

Frfaf@a 7 | g are g3 & 98 oft sgr s 82
(A) sifdsar (B)'iil‘lﬁ

(C) 5zren (D) gt [B]
g e ... Y BT B2

(A) wraT I %-h;r‘:f

(C) wraT fary D) 9rEr [D]
wﬁﬁnwﬁmumm ¥ Iuerey
Waﬂuﬁmuﬂ—amwg

(A) 6 3R 68 (B) 8 3R 68

(C) 6 3R 72 (D)8.3fR 72 [D]
fore Re &t wira & wdtg gane Raw & wu & g=man
STar a?

EAHSWEI; EBMM?ﬁ 3
C) 31 sragar D) 8 3fegs [C]
&g diedt - STaR | FEaf-oe RieusR &1 21 87?
(A\) Irater e (B) sigren siivfrs

(C) Rrcaq @it (D) 37/eRR SigFE 1

anffer woften 2021-22 & SigeR 2021-22 &
TroredT & AR (2011-12) el R waet g Eﬂq

a?mziﬁ‘!q%iﬁ’ta?wtﬁ’
(A)-5.2 “(B)3.2 -
(C)6.04 (D) 11.04 [D]

d HEaTd 2:3:4.3. 3iguTd H 8 a1 3961 H1Ea 39
g @ vad S GEar g2 :

(A) 13 (B) 26 . [
(C)39 A WD) : {81
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